VEV13500



FUNCTIONAL PART S e
Appendix AiPages INAeX ... ..
Appendix B Parts Index .. ...






[ VIKING ] VEV1500
FUNCTIONAL PARTS

Tue May 14 20:39:41 UTC 2019 1



=0 VEV1500
Item Part No. Name Qty Uom NOTES
1 PV300205 CAPACITOR (1500CFM EA
BLOWER)

2 PV300145 CAPACITOR CLAMP ASSY EA Not available
online / Call for
pricing and
availability

Not NOTE (INCLUDES ITEMS #3,4,5,6) EA

Shown

3 PV300046 1/4-20 X 1/2 SCREW EA

4 PV300041 WASHER, LOCK, INT. TOOTH, EA NO LONGER

1/4 AVAILABLE

5 PV300044 NUT WHIZ 1/4-20 EA

6 PV300037 CAPACITOR BRACKET EA Not available
online / Call for
pricing and
availability

7 PV300030 DAMPER SPRING 99140145 EA

8 PV300202 DAMPER FLAP EA

9 PV300203 GRILLE (1500 CFM BLOWER) EA

10 PV300238 BLOWER ASSEMBLY EA

S97017162

11 PV300200 FOAM SEAL EA Not available
online / Call for
pricing and
availability

12 PV300201 MOTOR SUPPORT (S97016266) EA NO LONGER
AVAILABLE, Not
available online /
Call for pricing
and availability

13 PV300038 SPLIT BUSHING EA Not available
online / Call for
pricing and
availability

14 PV300039 SCREW, 8-18 X 3/8 PH TR HD EA NO LONGER
AVAILABLE

15 PV300042 SCREW, 12-24 X /312 SLT HWH EA NO LONGER

#2 AVAILABLE, Not
available online /
Call for pricing
and availability

16 PV300043 CORD CLAMP EA NO LONGER
AVAILABLE, Not
available online /
Call for pricing
and availability

17 PV300045 GROUND SCREW EA NO LONGER
AVAILABLE

Tue May 14 20:39:41 UTC 2019




VEV1500

Tue May 14 20:39:41 UTC 2019



VEV1500

Item Part No. Name Qty Uom NOTES
18 PV300006 DAMPER 421 EA
19 PV300199 COVER (DEV/VEV 1500 EA NO LONGER
BLOWERS) S97016264 AVAILABLE
20 PV300008 ROUGH IN PLATE 332KR EA
NI PV300146 INSTALLATION HARDWARE EA

Tue May 14 20:39:41 UTC 2019




VEV1500

Appendix A:Pages Index
FUNCTIONALPARTS ...... ... ................. 1

Tue May 14 20:39:41 UTC 2019 A-1



| VKNG | VEV1500
Appendix B:Parts Index

PV300006 . ..........cccoo ittt 1
PV300008 ....... ... .. .. 1
PV300030 ...t 1
PV300037 .. ... . 1
PV300038 . ...t 1
PV300039 ....... ... ... 1
PV300041 ... . . . 1
PV300042 ... ... ... ... ... 1
PV300043 ... ... .. . 1
PV300044 .. ... ... . 1
PV300045 . ....... .. 1
PV300046 ....... ... ... ... 1
PV300145 ... ... 1
PV300146 ....... ... ... ... 1
PV300199 ... . ... 1
PV300200 ....... ... ... .. 1
PV300201 ... .. . . 1
PV300202 ...... ... ... ... 1
PV300203 ........ ... 1
PV300205 ....... ... .. .. 1
PV300238 ........ ... 1

Tue May 14 20:39:41 UTC 2019 B-1



	FUNCTIONAL PARTS
	Appendix A:Pages Index
	Appendix B:Parts Index

